FIERFRT = 103/11/3 9:30:28

Sl

N
\#
N

AN H:103/11/04

(B8R 1 A513.95.66

[HRE 2 AE] = R T R BRI A T

[EEfir SRR e 5 S s

[BEREHIE] 731 Z R TR B (% B 120 9%

L INLE

(k4 EBEE]06-6872284 4314 604

[ E5RE5106-6873445

FEZEFESR]10360511

[FEELRBIREEE M KHRTES /N 1804 5755 K= T2
AR T7 A B AE

[ARARE T I A

DEBIRBUTERRE AT TAHRIZE 64 ik 2 i) &

[Hr i A 5 2R 01

(BB B E S LR &

& B DA MR 2 Bt SRR B CR B A E B B &
BB EERES

PERT53E] TAE4E 5133 /K3 ~ EH ~ 7KI% R H MK A T2
[REEBMRAL TEHERAFERAEHERIRE] &
[BRAERERE1103/10/15 10:00

RS HEHA1103/10/01

B3 S G NS S s S e i |

R& A WTO BUNERRERE (GPA)I &

(AR EAEREESIEHEANZTEC)] &
[BEEFHEEKEBEEASTEP) &
&SRR =/ FERE RHE)
[RETHR(E )| Z e T — % BE I

(BB ELERE DEREFSEE LSS B S
[REERIHE]S

[FEr e EEE S+ H =
[AEREHNRERA T BT E 2 fiA]lE
[REBXEERTES

[ 700 B

[HRESHEEEAHE



[FEE4£:%H17,630,000 7C

& 2R FEN 2

[EEBHRE]R

REASFHE]001

(A% H #H1103/11/03

RN B HA1103/11/04

[(BLEI4mTR]103 IR IR TSR 60511 9%

AT AH]E

BRI AEEIE

JEESEEEAFHIE

JEE4:%E17,630,000 JT

[4E5 A 4 %H15,600,000 7T

[ ESHESAHE

[EEUREREASE 58 R E R R B SRR TR A &
L RBET AR EREREIRESHE]R
[RARR RS 22 86

[ R AR ] 16708558
(SRR A 2 E AR A E]

[EE&EE

(SRR HEE]613 AN ITEEAERS 316 9%
[ P BB EE]05- 3709518

[RAES4E] 5,600,000 7T

(SR e R 1] o 2 EC R (Republic of China (Taiwan))
[B& R/ INEEENE

[B4IAEYZ H#A]103/11/23 — 104/03/21

A IE ] |

[ E L 1R B N AR BEEE /N 1804 5755 BEKik 2= T2
[BEEERAMTEREE B LEREE] &
(SRR | S a iE B IR AE

[FRML TR KEE]

[RAEE%H]5,600,000

[JEEE%H17,630,000

[REM R 1] EEEE (Republic of China (Taiwan))
[JR EEH B SR 4H 115,600,000 7T

R R 5] 13185037

RE R B R s S AR AE]

[BEEHK]E

[FE{E4:%E16,560,000 7T



REEERERIER - SRS NS E IR R R (=)
R 5184877118

RS 2R E =S AR AE]

[EEEH]E

[FE{E4:%E15,980,000 7C

REEERERIER - SRS NS E IR R R (=)
R E125155120

RS RS 2] o 2 S A IR A E]

[EEEH]E

[FE{E4:%E16,100,000 7T

[RAEREIER - SIS RS E IR ()
[RASER R 5189707710

(R 2 H] B = AR A H]

[BEEEHE

FE{E 4 %E]5,792,000 7T

[RAEREIER - SIS E IR ()
[RA RS FCA5189724984
RS2 AR = AR A

[BEEEHE

[FE{E 4:%E16,263,000 7T

[RAERREIER - SIS RS E IR ()2
[B&I T THRR 1R A]3.95.66

(PRI THRBR -2 1 == e T 1R B2 L 2 P
ERpIIETEE]



